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93b (1 mawn) 2 94b (5170 nop 1797 2317 729N7)

I 1y mwn: exemption for carrying an incidental "9av” and nany N3 NYRY NIRON
a. v if he carries out less than my»w3 of food in a ’93, he is exempt for all — including 53 — since "3 is secondary

i And: if he carries out a living person in a bed, he is exempt for the bed as well as the 'n
b. 7915 ¥’8w 7985 if he carries out a corpse or n°ta of nn or 121 or NWTYI of y7v — liable
i. ™. exempts, as this is NaN5 ¥"RW NIRYN (i.e. he doesn’t want the nn there, just not here)

II.  Related xn»a: if someone carries out 11»*w3 of food, he is liable for food but exempt for *92
a.  But if: he needed the »93 in any case (in the new location), he is also liable for *92

i Implication and application: if someone eats 2 n'r1a of 2590 under one n5yn he brings 2 mron (!)
ii. Defense (nww 77): in this case he was mw vis-a-vis the food but 1 regarding the *93 (2 different nvavn)
1. Challenge (»wx "7): the wording of the Xn»»12 — %0 Yy qR” implies the same 21N
iii. Rather (»wx 7): he was mWw about both but found out in between

iv. Note: this dispute (x"/9") replicates the dispute 5"1/13nv *1 if mpSnn My (above 71b)
III.  Discussion of exemption for carrying out a live person
a. Suggestion: our mwn follows 1n "1 against 1327

i. Per: v:0 naw xnaon: if someone carries out animals, alive or dead, he is 27’n; "1 exempts for live animals
1. Reason: the live one carries itself ("mxy nx w1 M”)
ii. Block (x37): even 131271 would agree here; they only disagree re: animals, who fall and need help to walk
ii. Challenge (8”287): :R 1"y — 0PN1 12 permits selling a horse to 0™y (task of horse doesn’t involve n”nn narYn)

1. And:ynv 7 commented that n7'na 12 and jn1 "1 held the same position
2. But if: 1321 agree that carrying a person is not n”nn narYn, why did janv 1 single out 1"1’s stance?
a.  Defense (8¥37): 131 '7's referent was a horse that specializes in carrying birds (not people)
b. clarification: there is a horse that carries hawks (e.g.) to trap other birds
iv. 2 77 1M "1 agrees that if the animal is tied down, one is 27n for carrying it
1. Challenge (»an5 n’ax7): Parthians are considered tied down (with their armor), yet n1’na 12 permits
selling them horses, and janv "7 aligned n’na 1a::m1 "9
2. Defense: they remain on the horses due to their own haughtiness, per story with horseman who ran
IV. Discussion about nany nax nrrw NarOn (end of mwn — carrying the corpse outside)
a.  5wam pny 7 pynv 1 even exempts if he was taking the nn out for burial
b. 27 w™M agrees to liability in case he takes a shovel out for digging or a n”o for readings
i. Challenge: this is obvious — else, what would he define as nan5 nax2n nIRON?
ii. Defense: we might have thought that he requires 1919 (the object) and nanY (the narYn — taking it out) — 5"np
c.  Story:>"a11 permitted moving a nn out to a M"Yn71 (even though v only exempted, not permitting n5nnaY)
i Defense: even nmn> "1 would permit here; since k¥ to a mYnI3 is v”1m, which is waived for nyan 1
V. Side-door ®mv: T:1 0yn — if someone pulls out hairs of ny1¥ or burns a Man (to make it MnY), he violates n”>
a.  ~p: if he pulls out 1 of 2 hairs, he is liable (as only 1 is not Xnv); but 1 of 3...
i pn2 /1. liable, since he has furthered his goal and if another falls out, he is 19V
ii. vy ’1. exempt, since right now he is still xno
1. Proof: from our mwn, n>1a is liable, implying that %2 m»1a is exempt
a.  But:vnarules that Y2 nors is liable
b.  Proposed resolution: liable if he took %% r13 from single 13 (erased My'w); exempt — %2 ro1 from 1.5
2. 277 both of those cases are 27n; exemption is in case he takes %2 n’1a from a large nn
a.  Reason: his actions accomplished nothing vis-a-vis the nn and he took out less than My w>
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